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STAT 340
Chapter 11 — Practice Questions
Part I

Heights of women aged 18 — 24 years old is normally distributed with a mean of 64.5 inches and with
a standard deviation of 2.5 inches.
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a. P(X<645)=0-5S
b. P(57<X<72)=0-997

c. P(X >595)= P(59-5 L XL bt:S) + PR b4 S

= O_i‘; + 0.5 = D“‘H’
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: 7
d P(62 <X < 72y= P62 X449 + P(e4-5< X< 72)
= 063 4 0-99% - o0.33285

2 2
e. P(X <57 or X >72)= P(x457)+ P(X>72)
= )-0-99%

= 0.002



X ~ N (00, 15)
e 7 p

2. The IQ of students is normally distributed with a(mean of 10@ and with a@tandard deviation of 16)
Calculate z-scores for

a. 1Q=124 2z = (24-100 ) ¢
|6
b. 1Q=96 z = 96-100 _ 0. 95
16

3. Find the following probabilities using the standard normal table.
a. Z~N(0,1)

pzs>n= (= P(Ze) =1-02413
=0-Is87

b. Y ~N(10,20)
3010
P(Y < 30) = P(Z N "o_"')

= plz 41)

= 0-%4]3

4. LThe weight of potato chips bags filled by an automated machiné follows the Normal Distribution with
a mean of 24 oz and with a standard Deviation of 0.6 oz. If you purchase a chips bag filled by this
machine, what is the probability the weight is between 23.7 oz and 24.3 0z?
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P(Z<Lo0-8) = ?’CZ&——O\s)
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0- b41IS — 0.3038S

= 0-3%3



